Cuctema MeHeaKMeHTa Kadectsa (CMK)
000 «Bons» cepTuduLmMpoBaHa

Ha COOTBETCTBME

Tpe6oBaHUAM

cTaHAapTa

1SO 9001:2008 a 5

CepTndurumnpoBaHo
Pycckum Peructpom

o

KOMMDODAHMUKA

BONAdA

NMPOU3BOACTBOTEN/AMKLU

D®OPTO4YKA

moaenb 2017

Quality management system (QMS)
of LLC «Volya» is certified
for compliance with

standard of
1SO 9001:2008 -

Certified by
Russian Registry

ansa renauubl «JavyHaa-Tpéwka»

SMALL WINDOW

design 2017
for the greenhouse «Dachnaya-Tryoshka»

TexHu4yecKuin nacnoprt
Technical certificate

UHCTPYKUUA NO COOpPKe
Assembly manual

CTp./page
2-3

cTp./page
4-16



TexHnyeckum nacnopt POPTOYHKA ans Tennunubl «[layHasa-TpElKar

KomnneKrauua getanbHas

Detailed parts list

Ne [WapkupoBKa BuA HaumeHoBaHue
marking view denomination

ANWHa, M
length, m

KON-BO, LUT.
q-ty, pcs

1-i naket/ 1-st package
= [opu3oHTanb
1 ~ Horizontal

0,91

- Ayra
2 il Arc

0,46

3 // AnaroHanb
[ Diagonal

0,59

Hook

0,4

MnaHKa BepTMKanbHas
Vertical cleat

0,5

Horizontal cleat

0,98

1
2
3
4 ) ) ) Kptoyok
5
6
7

YnnoTtHuTENb NPOEMa
Opening seal

l lMnaHKa ropn3oHTanbHas

0,95

0,57

8 duKeupytollas nnaHKka
Fixing strip

0,93

N INDNININ NP IN]TWIN

2-i nakert / 2-nd package

g v | Llenoyka
9 el Chain

0,73

Tpy6Ka anqa 3anupaHuns
10 — Locking tube

KpoHwTenH

11 Bracket

LLlanb6a

12 Washer

17

BuHT M4x8

13 Screw M4x8

25

BuHT M4x14

14 Screw M4x14

28

BuHT M4x35

15 Screw M4x35

16

BuHT M4x50

16 Screw M4x50

BuHT M5x45

17 Screw M5x45

lfanka M4

18 Nut M4

19 Lock nut M5

[aika M5 camOKOHTpsLWasacs

. MNetns BepxHas
20 \, b Top hinge

e Metns HMKHAS
21 A\ Botton hinge

~ CKoTty
)
22 ~ Scotch tape

Technical certificate of small window for the greenhouse «Dachnaya-Tryoshka»

COOpKy M aKcmyaTauuio GOpToOuKMU cnefyeT OCyLeCcTBAATb CTPOro B COOT-
BETCTBUMU C MHCTPYKLUMEH U NpaBUIaMU 3KCMlyaTaLuUU, U3JI0KEHHbIMU B
— = TexHU4ecKom nacnoprte. TeXHUYECKUI NacnopT 0693aTe/IbHO COXPaHUTD.

OnucaHue
®dopToyKa NnpeaHasHayeHa 419 NpoBETPUBAHMS TEMUL,. YCTaHaBANBAETCH TONbKO
B Tennuuy «JadHasa-TpéwKar. Kapkac GopToOUYKM M3rOTOBAEH N3 OLIMHKOBAHHOM CTa-
I 1 cobumpaeTcs ¢ NOMOLLLbIO BUHTOB U raekK. MoKpbITMe GOPTOYKKN obecrneymBaeTcs
Bblpe3aHHbIM M3 TEMIMLbI NONMKaP6OoHaATOM. B KOMMNIEKT GOPTOYKM BXOANAT BCE He-
06X0ANMbIE 3N1EMEHTbI KPEMNNEHUS.

I'IpaBuna AKcnayaTauuum
Mepen HavanoMm aKcnayaTaluu GopToyKa AoMKHa 6biTb cOGpaHa W ycTaHoB/IeHa B
TENIULE B COOTBETCTBMU C MHCTPYKLIMEN.
dopToYKa He Jo/KHa NoJBepraTbCa BO3AEMCTBUAM, KOTOPbIE MOTYT CO3/aTh OCTa-
TOYHblEe ledopMaLMM KapKaca U MOKPbITHS.

lapaHTUiHbIE 06A3aTeNbCTBA
Cpok NpeAbABAEHUA NPETEH3UN — 12 MECALEB CO AHSA MOKYMKMU.
lapaHTUiMHbIE 006513aTEABCTBA HE PACMPOCTPAHAIOTCA Ha CAyYau:
1. ycTaHOBKa GpOPTOUKM C HapyLLEHWEM TPeBOBaHWUIA MHCTPYKLMK
2. HapyLleHWe NpaBWA 3KCMAyaTaLMK
3. yparaHbl, Apyrue CTUXMiHble BeACTBUA.

[ata n3rotoBneHus:

MpeanpuaTtue - narotosutens: 000 «Boas»
141983, . AybHa MockoBcKkoi obAaacTu, nep. CeBepHbIl A.8.
MpeanpuUsTUE - U3rOTOBUTEAb HECET OTBETCTBEHHOCTb 3@ KauyeCTBO NMPOAYKLMKU B cooTBETCTBUM C TK PO.
MpeanpuaTHe ocTaBAsieT 3a cob60W NPaBoO Ha BHECEHWE U3MEHEHUI B KOHCTPYKLMIO GOPTOUKK.

Perform assembling and operation of the small window in strict accordance
with the manual and operating rules stated in the technical certificate.

= = Please keep this technical certificate for further reference.

Description

The small window is designed to ventilate greenhouses. It is installed only in
the greenhouse «Dachnaya-Tryoshka». The frame of the small window is made of
galvanized steel and is to be assembled with screws and nuts. The covering of the
small window is provided by polycarbonate, remaining from the greenhouse covering.
The small window Kit includes all the necessary fastening elements.

Operating rules

Before operating the small window must be assembled and installed in the
greenhouse in accordance with the manual. The small window should not be exposed
to effects that can create permanent deformation of the frame and coating.

Warranty liabilities
Claim presentation period is 12 months from the date of purchase.
Warranty liabilities do not apply to cases of:
1. the small window installation with violation
of requirements of the manual.
2. violation of the rules of operation.
3. floods, hurricanes and other natural disasters.
Date of manufacture:
Manufacturer: VOLYA LLC
per. Severny, 8, Dubna, Moscow region, 141983, Russia.
The manufacturer bears responsibility for quality of products in accordance with RF CC.
The manufacturer reserves the right for the small window engineering design changes.



No2 1 naket
package

naket

Assemble the window frame from the parts of Ne 1, Ne2, Ne3.
" package 2

1.2. YctaHOBUTE HWXHIO NETAIO (2 LUT.) U KPOHLUTEMH Ha KapKac.~

11.1. CobepuTte Kapkac doptoukn 13 petaneit Ned, Ne2, Ne3.

Place the bottom hinge (2 pcs.) and the angle on the frame. - i 025 ......................
1.3. YcraHoBuTe Kpenéx, uToBbbl 3aKPENUTL LiEMb. F . \-’ ’ “haker
Install the screw to secure the chain. 1 1 1 package 2

LT,
KW \ﬂ) 5pc
M4x8 M4

:Ne21 nmaker 2.
: package 2 ...........
. e

naket
package 2

(B (¢ Spc
M4x8 M4

naket
package 2

(B (¢ 1pc
M4x8 M4

N°11 I'IaKﬁT 2
package
1/ 'Y i

naket
package 2

s \g)j-lbug R naket |
M4x8 M4 package2

i Qi 1pc:
M4x14 M4

package
p o LuT.
. KW é/?pc

M4x8 M4




TENAULBbI.
Small windows are installed in the ridge part of the lateral opening of the frame.
2.2. BbipexbTe U3HYTPU TeNAULIbI TPAMOYrOAbHOE OKHO B MOAMKAPOOHATE, KOH-
TYP KOTOPOro NPOXOAMT No kpasim petaneit Ne2B 1 Ne4B.

2 2.1. doprouka ycTaHaBAMBAETCHA B BEPXHEN YacT BOKOBOrO NPOEMa Kapkaca

Cut from inside the greenhouse a rectangular window in the polycarbonate, the 2_3‘ """
contour of which passes through the edges of parts Ne2B and Ne4B. .

.3. TpUKAEITE CKOTY Ha Kpas MoAMKapBoHaTa (AAR 3aLLMTbl COTOBOTO MOAM- 2B No 22 """"""" :
apGorara). 22 e

Adhere adhesive tape to seal the edges of polycarbonate (to protect the
polycarbonate honeycomb).

2.4. Ha kapkace TenA1ubl Mo YrAaM Bbipesa AEMOHTUPYIOT 4 BUHTA M MOCAE
YCTAHOBKM YNAOTHUTEABHOTO MPOGUAR NPUKPyumnBatoT obparHo (n.5.3.).
On the frame of the greenhouse, 4 screws are dismantled at the cornersofthe N ’
cutout and after installing the sealing profile, they are screwed back (p.5.3.).

AnonMKapGOHaT .......................
polycarbonate
NNHUS pe3a
cutting line
................ D
\ /_ Bua nsHytpu
~. Y4B View inside

naket :
package 2



HbIM pa3Mepam W YCTaHOBWTE BEPXHIOK METAID (AAS 3TOFO OTOFHWUTE NOAMKaP6HO-
Har).

In the top runner Ne2B drill holes @4 on the presented dimensions and install
top hinges (it is needed to unbend polycarbonate).

3.2. YcraHoBUTE LieMb Ha HUXHUIA NPOroH.

Install the chain on the bottom purlin.

3 3.1. B BepxHem nporoHe Ne2B npocBepAnTb 0TBEPCTUA @4 N0 NpeacTaBAeH-

INo20 naker 3 naket

NS e £ package 2 § package 2

package ¢ package 2 } 3-1 : ﬁ L[l)g Lm @ Ibug '
LT, 3 M4 M4 /

(¢ 2p7 ¢ I et X8 ) .

MAX8 M4  (eeeeececssncccanns
3-1- i

naket
package 2

i
i | i
. ARR
AR
E”, i ] 3
nAl i\ DN~ T
(] W ou il
] ] L]
Al deadiadies | Bua naHytpu
10 E Ne9  naker A P

1 package 2

1pc::

View inside



3aKpenuTb No 4 yrAaM Kapkaca BUHTaMU, YTONWUB FOAOBKY BUHTa B NOAMKapBOHa- 4_3_ : package L 31 package 1 :
Te.

Wr. =+ wr. :
Put the polycarbonate cut from the greenhouse on the window frame, fix it : l Zpe. : ‘ pe:
at the 4 corners of the frame with screws, drowning the screw head in the == OO T
polycarbonate.
4.2.06pesatb noAMkapboHaT No kapkacy Goptouku (63 Npunyckos). OBKAEUTL
NoAMKapbOoHaT CKOTUEM (3aKPbITb COThI).
Tape up the polycarbonate panel with adhesive tape (to protect the cells) and
attach it to the frame of the vent.

3. YCTaHOBUTE OKAHTOBKY Ha MOAMKAPBOHAT GOPTOUKM.
Install the window lining on the polycarbonate of the vent.
4.4, ycraHosuTe TpYBKy AAA 3anUPaHNUs GOPTOUKM.

Install locking tube.

4 4.1, BuipesaHHblil U3 TENAWLbI MTOAMKAPOOHAT HAAOXMTb Ha KapKac GOPTOUKM, INo5 naker iINog naker . :

naket
package 2

(D (€ 24y
M4x14 M4

naket
package 2

(B (¢ 450
M4x14 M4

:Ne22 naker
: package 2 :

010 naker
package

:Ne22 naker :
”package 2

naket

S : package 2 .
........ 4 ~ : Buii CHEpyv e @ © 1 pc BA usHyTpu
External view M4x50 _4x32 M4 View inside

10

11



5.1. YctaHOBUTL N0 NEPUMETPY BbIpe3a TENAULbI YITAOTHUTEAD MPOEMa, HapeBas naket 5
€ro Ha cpes noAMkapboHata. Kpas BEPXHEro YnAOTHUTEAR HYXXHO BbIMYCTUTb 3@ 5 2 package wr
KOHTYpP BbIpe3a, AAST OTBOAA@ AOXKAEBOW BOAbI. AAS 3TOTO HYXHO cpe3aTb ¢ 060mx w w7 0 L ope

KOHLOB 4acTb YMAOTHWUTEAS.
Place the seal on the contour of the cut, putting it on a cut of polycarbonate. The
edges of the top seal need to be released outside the cut-out contour to drain the
rain water. To do this, cut off the part of the seal from both ends. i ' :
5.2. YcraHoBHTE UKCUPYIOLLME MAGHKM MO BEPXHEMY U HWKHEMY Kpasm. 3akpe- x L., .
nute NoAMkapoboHar Lwanbamu. i naker

Install fixing strips along the upper and lower edges. Secure the polycarbonate package

with washers.

5.3. YcraHosute 4 BuHTa (n. 2.4.) B yrAbl Bbipesa, CMAB NOAMKapOOHAT roAoB-
KOM BUHTA.

Put the 4 screws back (p.2.4.) at the corners of the cutout crushing the
polycarbonate with a screw head.

M4x35 4x32 M4

NO 7 nakert

: package :
a 0.5m X 2u./pc.
: 0.9m x 2uwr./pc.

o naket
Ne8 package 1

I'IaKeT
package 2

T,
s @ © 1 pc
M4x35 4x32 M4

Bua cHapy»u
External view

No 11 naker
package 2

Bua BHyTpH
View inside

13



6.1. YcraHoBHTe GOPTOUKY, COEAMHUB 06€ YacTh NeTeAb BUHTAMMU C CAMOKOHTPS-
LAsAcAaMM rankamu Mb5.

Install the small window by connecting both parts of the hinges with screws with
lock nuts M5.

6.2. MpukpenunTe LENOUKY K GOPTOUKE.
Attach the chain to the vent.

naket
package 2
e
M5x45 M5

wr.
pc.

naket
package 2

| .

e e

Bua BHyTpU
View inside

14

15



7.1. YctaHOBUTE KPIOYOK Ha KPOHLUTENH POPTOYKM.
' Install the hook on the angle of the vent.

naket
package 1

Bua BHYyTpH
View inside

16



